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1ha = 100a = 10000 m?2
35ha = 3500a = 350000 m? Y YTt
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1000kg = 1t ©]2 & 5000kg = 5t YUt}
webA], o] EZL 5t EF YUt




14. [ Rrol Bolz 48 202 Hoxe,

12400000g =  Jkg=[ ]t

> c:
»
> e 12400
> =g 124
1000kg = 1t

12400000g = 12400kg = 12.4t




i

i

v v VvV Vv vy vvyy
0x
i

4000
HE D 003
HE T 50000
HED 0.006

B

1t = 1000kg = 1000000 g
(1) 4t = 4000 kg

(2) 30g = 0.03kg

(3) 0.05t = 50000 g

(4) 6kg = 0.006t
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4000( kg) = 4(t)

40 x 100
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1m?2 = 10000 cm?

(1) 80 m? = 800000 cm?
(2) 1070000 cm? = 107 m?
(3) 450000 cm? = 45 m?
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@® 2km? = 20000a @ 6ha = 60000 m”
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® 850 ha = 85000 a
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220 + 730 + 620 + 290 = 1860( kg)
— 1.86t




